PARTS LIST

ITEM| QTY | PART NO. PART DESCRIPTION LENGTH UNIT WT. NET WT.
1 1 X-MEP48 4'X 8' WELDED EQUIPMENT RACK BASE 377.38 377.38
2 6 G58134 5/8" x 1-3/4" HDG BOLT 13/4in 0.27 1.61
3 6 G58FW 5/8" HDG USS FLATWASHER 1/8 in 0.07 0.42
4 6 G58LW 5/8" HDG LOCKWASHER 0.03 0.16
5 6 G58NUT 5/8" HDG HEAVY 2H HEX NUT 0.13 0.78
TOTAL WT. # 409.38

NOTE:
INCLUDES ATTACHMENT HARDARE
FOR TWO SIDES OF PLATFORM

TOLERANCE NOTES

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (# 0.030%)

DRILLED AND GAS CUT HOLES (# 0.030") - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (# 0.070") - NO CONING OF HOLES
BENDS ARE t 1/2 DEGREE

ALL OTHER MACHINING (% 0.030")

DESCRIPTION

4'X 8' MODULAR
EQUIPMENT PLATFORM BASE

l Engineering
1

Locations:
New York, NY
Atlanta, GA

Support Team: Los Angeles, CA

-888-753-7446 Plymouth, IN
Salem, OR
Dallas, TX

A valmontvw

CPD NO.

DRAWN BY

ENG. APPROVAL

PART NO.

ALL OTHER ASSEMBLY (% 0.060") CEK  1/27/2016 MEP48
mgmammﬁ: INTHIS DRAWING VALMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO.
NDUSTRIES AND CONSIDERED A TRADE SECRET. o | 81| 02 CUSTOMER BMC  3/12/2016 MEP48

240 |
39vd




96"

89 1/2"

®
11/16" DIA. S __—
48" 112" DETAIL A
LEG CONNECTION
DETAIL
®
C4 X 5.4# CHANNEL
TOLERANCE NOTES DESCRIPTION N fors:
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: 4'X 8' MODULAR l Engineering  Atlanta, GA
SAWED, SHEARED AND GAS CUT EDGES (# 0.030") Ro Support Team:  Los Angeles, CA
DRILLED AND GAS GUT HOLES (#0.030") - NO CONING OF HOLES EQUIPMENT PLATFORM BASE . 1855-753.7446 o™
LASER CUT EDGES AND HOLES (£ 0.070") - NO CONING OF HOLES A valmont P coveany Dallas, TX
BENDS ARE # 1/2 DEGREE
ALL OTHER MACHINING (% 0.030") CPD NO. DRAWN BY ENG. APPROVAL PART NO. o
ALL OTHER ASSEMBLY (# 0.060") CEK  1/27/2016 MEP48 o3
:"ROD;XEAMA:VNOTE NTHIS VALMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO. m %
nnnnnnn o
INDUSTRIES AND GONSIDERED ATRADE SECRET. ANY o | 8102 CUSTOMER BMC 3/12/2016 MEP48




